ORACLED DO O UOOOOOO1000000O0O PDFO OO O
Oo00o00o0oooooOoo
https://www.100test.com/kao_ti2020/143/2021 2022 ORACLE_E5
_BA 94 E7 ¢102 143225htm O 0 00 Ooracled OO OO O
Jo0o0oododooo,ooooooog,oooood
Jodo0O,00o00o0,000o00ooo'ocooooon,
DO00o0!'gdoddoddbOdoracled 000000
gl 000 0odooddsgooooooloon
Ooracle9ild . 174. /*all rows/ 0 000 O U0OOOOOOOO
Jo0,00000000,00000000.00 :0select /* all
_rows*/ emp_no,emp_nam,dat_in from bsempms where emp_no=
ccbzzp . 175. A first rows*/ D O 0 OO 0OO0OOOOOOO
0O0,000000000,00000000.00 :0select /*
first_rows*/ emp_no,emp_nam,dat_in from bsempms where
emp_no=cchzzp.176./*choose*/ U U U0 OO OO OOOOO
Oo00o0o,0000o00oooo,00o0ooooon.
O000000000000o00o00o0o,0000000d
OO0 00O.0 0 :Oselect /* choose*/ emp _no,emp _nam,dat_in
from bsempms where emp_no=ccbzzp . 177. /*rule*/ 0 0 0O O O
DO00000000000.00 :0select /* rule */
emp_no,emp_nam,dat_in from bsempms where emp_no= ccbzzp .
178. *full(table)*/ D 0 0O 0O OO0OOOOOO.O O :Oselect /*
full(a)*/ emp_no,emp_nam from bsempms a where emp_no=
ccbzzp . 179. /*rowid(table)*/ U D O 0O 0O O OO O O O rowid
OO0 0O.0 O :Oselect /* rowid(bsempms)*/ * from bsempms
where rowid>= aaaaaaaaaaaaaa and emp_no= ccbzzp . 180. /*



cluster(table)*/ D 0 OO0 000000 ooOooooooon,
00000000 .O 0O :Oselect /* cluster */
bsempms.emp_no,dpt_no from bsempms,bsdptmswhere dpt_no=
tec304 and bsempms.dpt_no=bsdptms.dpt_no. 181. /* index(table
index name)*/ 0 000 0O0O0OO0OOOOO.O O :Oselect /*
Index(bsempms sex_index) use sex_index because there are fewmale
bsempms */ from bsempms where sex=m . 182. /* index_asc(table
Index name)*/ U 000 O0O0OOO0OOOOOO.O O :Oselect
/* index_asc(bsempms pk _bsempms) */ from bsempms where
dpt_no=-ccbzzp.183./*index_ combine*/ 0 0O 00O OO0 OO
O00O,00iindex combineD OO OO0OOOOOOO,000
OJO00000000000.00 :Oselect /*
index_combine(bsempms sal_bmi hiredate_bmi)*/ * from
bsempmswhere sal 184. /* index_join(table index _name)*/ J [0 [
JO00000o0d0ob0oo0oOooud.dn - Oselect /*
index_join(bsempms sal_hmi hiredate_bmi)*/ sal,hiredatefrom
bsempms where sal 185. /* index_desc(table index_name)*/ 1 [J [
OJO00000o0o00Ood.dao:Oselect /*
Index_desc(bsempms pk_bsempms) */ from bsempms where
dpt_no=ccbzzp . 186. /* index_ffs(table index_name)*/ 0 [J O [
J000000o000o,0000000000.00 :0select /*
index_ffs(bsempms in_empnam)*/ * from bsempms where dpt_no=
tec305 . 187. /* add_equal table index_nam1,index _nam2,..*/ [ [
Jododoboooooo,ooobooouoouooo.ad
[ :Oselect /* index_ffs(bsempms in_dptno,in_empno,in_sex)*/ *
from bsempms where emp_no= ccbzzp and dpt_no=tdc306 . 188.



/*use concat*/ 0 0 OJ O Owhered O OJord O O0OOO
Ounionalld O O 0O O .0 O :0select /* use_concat*/ * from
bsempms where dpt_no=tdc506 and sex=m . 189. /* no_expand*/
0 O whereld O Oor OO in-listd O O O O ,no_expand O O [
DO0000000000.00 :Oselect /* no_expand*/ * from
bsempms where dpt_no= tdc506 and sex=m . 190. /* nowrite*/ [
JO0000o00o0o0o.19. Arewrite*/ D00 00O O
0 0.192. Fmerge(table)*/ 0 0000000 OO0O0O0ONO
O 0.0 O :0select /* merge(v) */ a.emp_no,a.emp_nam,b.dpt_no
from bsempms a (selet dpt_no,avg(sal) as avg_sal from bsempms b
group by dpt_no) v where a.dpt_no=v.dpt_noand a.sal>v.avg_sal.
193./*no_merge(table)*/ D 000000000 OOO.O

[ :Oselect /* no_merge(v) */ a.emp_no,a.emp_nam,b.dpt_no from
bsempmsa (seletdpt no100Test U OO0 OO O OOOOOO
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